GREY GROUP

1. approximate [fo the nearest whole square) the area of each shape, then colculafe
their total combined area if each square represents 1cms.
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2. approximate the areas (to the nearest whole square], then compare using <7 or =
1 sguare = 1o 1 square = Tomed 1 sguare = Tomd
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3. A builder needs to buy land to build o picnic area. The area of the lond must be
7¥m2 3ome of the land must run olong the edge of the rood. Drow o possible area that
the builder could use.
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GREEN GROUP

4, aApproximate [lo the nearest whole square) the area of each shape. then calculate
their total combined area if each square represents 2cm?.
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5. Approximate the areas (to the nearest whole square), then compare using <> or =.
1 square = 4cm? 1 square = Scn 1 square = 3cmd
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&. A builder needs to buy land to build an ice cream parlour. The area of the land must
be 4am?. some of the land must run along the edge of the river. Drow a possible area
that the builder could use.




GOLD GROUP

7. approximate (lo the nearest whole square) the area of each shape, then calculate
their total combined area if each square represents 0.5cm?,
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8. Approximate the areas (to the nearest whole square), then compare using <> or =,

1 square = 2. 5CM¥ 1 square = 1.5cm¥ 1 square = 0L5CMF
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7. A builder needs to buy land to build a sondwich shop. The area of the land must be
24.5m*. some of the land must run along the edge of the river and the edge of the

road. Draw a possible area that the builder could use.
1 square = 3.5
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